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Q&A Session with Prof. Donald Knuth, TUG'95 Annual Meeting

Yt =2 ... NOT!

The paper came out in the Annals of Mathematics last month; it
arrived in our library and | saw it sitting there, and | looked at it
and it was just wonderful for me because it was in TEX and it
looked gorgeous! This to me was the ... you know, it was so ... |

mean, | almost felt like | had helped to solve the Theorem myself!
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> usepackage{amsmath}
» The TeXbook 182 “Fine Points of Mathematics Typing”

> texdoc mathmode

And once you have gotten to that level, there's only a little bit
more to learn before you are producing formulas as beautiful as
any the world has ever seen; tastefully applied touches of TEXnique
will add a professional polish that works wonders for the

appearance and readability of the books and papers that you type.



a, b, c d e and f

$a, b, c, d, e, \textrm{and } f$

$a$, $p$, $c¥, $d3, $e$, and $£$
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flz,y) =22 — > = (z+y)(z—y)

fa,y) =2 -1 =(@+y(z-1)

$f (x,y) = {x72-y"2} = {(x+y) (x-y)}$

\allowbreak

(xlu"'v‘rm:yl)”'ayn)
$(x_1,\1ldots,x_m,\allowbreak y_1,\ldots,y_n)$
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\int\int_D dxdy
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\int\!\!\!\int_D dx\,dy
\iint_D dx\,dy



(%)

$$\left (\frac{a 2}{b 3} \right) "43%$

(%)

$$\left (\frac{a 2}{b 3 \right) ~{\!\14}$$
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thin space (normally 1/6 of a quad);
medium space (normally 2/9 of a quad);
thick space (normally 5/18 of a quad);

negative thin space (normally —1/6 of a quad).



$\int_0"\infty f(x)\,dx$
$y\,dx-x\,dy$
$dx\,dy=r\,dr\,d\theta$
$x\,dy/dx$

$(2n) ! /\bigl(n!\, (n+1)!'\bigr)$
$\{1,2,\1dots,n\}$

$\{\,x\mid x>5\,\1}$

Jo° (@) dz

ydr— zdy

dx dy = rdrdf
zdy/dx
2n)!/(n! (n+ 1))
{1,2,...,n}
{&|z>5}



$\sqrt2\,x$
$\sqrt{\,\log x}$

$0\bigl (1/\sqrt n\,\bigr)$

$[\,0,1)8

$\log n\, (\log\log n) 2%

$x7"2\1/2%
$n/\!'\log n$

$\Gamma_{\'!'2}+\Delta~{\!2}$
$R_i{F"j{F_{\'k1}$
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0(1/y7)

[0,1)

log n (log log n)?
2/2

n/logn

D+ A2 Dy+ A?
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$x 1+\cdots+x_n$ -+t T,
$x_1=\cdots=x_n=0$ H=-=a,=0
$A_1\times\cdots\times A n$ A; x---x A4,
$£f(x_1,\1dots,x_n)$ foy, .. 2,)
$x_1x_2\1ldots x_n$ TIT . .. Tp,

$(1-x) (1-x"2)\1ldots(1-x"n)$ (1 —2)(1 —2?)...(1 —a")
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